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4.1.

4.2.

4.3.

4.4.

4.5.

4.6.

4.7.

4.8.

Af(1) = Ax + 3(Av)? + (Ax)”,
df(1) = Ax.

a) Af()=5>df(1)=1.

b) A F(1) =0,131 > df (1) =0,1.

¢) A f(1)=0,010301 > df(1) = 0,01.

2

dy = ——dx.
x>

dy =— 2 5 dx.
(x—=1)

dy = (sin2x)dx.

) 2/x - sin(2Vx)
- dxfx cos? x

dy dx.

—Ianzx (1 o k%,k € E].

y=ax+b =y =avady=adx=alAx:
Ay =alx + Ax) + b— [ax + b] = aAx.
Vay dy = Ay.

bat y(x) = Va* + x, taco Yix) =

Tir do

Ay =y(x) = v(0) =y (0)x = va* +x = a+ zl—ax.

Ap dung :
a) 12,08 ; b) 3.83 ; &3 1068y,

4.9. tan44°52" = 0,9954
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